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(@) log4 (b) 0 (c) log2 (d) log8
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18) If f (x) is a continuous function and a < c <b ,then [*f{x)dx + Ifj(x)dx is
(a) [Pf)dx + [t (b) [“fxydx + Pfndx (c) [PAndx (d) 0
19)

The value offécosx dxis
2

@ 0 (b) 2 (c) 1 (d) 4
20) f(l)\/x4(1 —x)%dx is

@ L b 2 (oL @ L
12 12 12 12

21) I [ifin)dx = 1, [{xfix)dx = a and [ xfx)dx = a* , then [(a = x)*flx) is
(a) 4a (b) 0 (c) 22> (d) 1
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(@ 1 (b) 0 (¢) -1 (d) 5
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fgtanxdx is
(@) log2 (b) 0 (c) log\/E (d) 2log2
25) Using the factorial representation of the gamma function, which of the following is the solution for the gamma function T
(n) whenn=8
(a) 5040 (b) 5400 (c) 4500 (d) 5540
26) T'(n) is
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28) Ifn>0, thenT (n)is
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30) f?)ox‘*efx dxis

(@) 12 (b) 4 (c) 4! (d) 64
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